Thermal power sector

Talchhapar S'anctuary is famous for -
(A) Green Pigeon (B) Tiger
(C) Black bucks (D) Crocodile
BT Ao fepeeh g wleg 7
(A) & et (B) ==

(C) =ar R (D) wRHwm

What is the height of the 'Gandhi Sagar Dam'?
(A) 26 metres (B) 62 metres

(C) 72 metres (D) 45 metres

T WO S @ SeErd fea ¥ 7

(A) 26 Hiex (B) 62 Hrex

(©) 72 drex (D) 45 tex
DPT is not a vaccine for disease.
(A) Diphtheria (B) Polio

(C) Whooping cough (D) Tetanus

BT Syt T & fog =& e ¥
(A) fewhifar (B) aiferay
(C) et @rar (D) feemm

Chol, Nicol, Patta, Dukul, Chorso are the different
names of

(A) Ghaghra (B) Angarkha

(C) Odhni (D) Choli |

o, P, 122, 39, 9| % fate
M ¥

(A) == (B) o

(C) &gt (D) =t

The total CO, emissions from various sectors are
5 mmt. In the Pie-chart given below, the percentage
contribution of CO, emissions from various sectors
is indicated :

Rfirer A & F CO, Tt 5 mmt ¥ | AR e
- ¥, Wﬁﬁcozmﬁh%uﬁuﬁfm
drreE i fear T ®

ada S e

Domestic sector

RIGEED

15%

20%

Transport sector

30%
qfasT &% '

Commercial sector

afias &3

What is the absolute CO, emission from domestic
sector?

qarEd T 8 ¥ PR CO, S R & ?

(A) 1.75 mmt (B) 1.5 mmt

©) 0.75 mmt (D) 2.5 mmt

EI5] 9P

10

11

Which one of the following place is not associateq

with Ahar C1v1llzat10n

(A) Rojadi (B) Gilund

(C) Bhagwanpura (D) Abhaneri

frefafag & & T |1 W HTES TV Ty
REI

(A) T B) frws

(C) wEmgd (D) S

The chromosomes in eucaryotic organisms are begt
ied at :

zgl)d]?lilophase (B) G, stage

(C) S stage (D) Metaphase

rfeaieds Sl & T BT ST ST T areen

¥ fpar o Gehan © 7

(A) S

(C) S sgen

- (B) G saw
(D) HeTha

‘What will be the area of the circle having

circumference equal to 56 cm?

(A) 216.15 cm? (B) 216 cm?
(C) 249.45 cm? (D) 256.25 cm?
56 A ARy AR g H1 AABE FT BN ?
(A) 216.15 &2 (B) 216 &
(C) 249.45 w2 (D) 256.25 a2

In graphite, carbon atoms are arranged in layers
of—

(A) Octagonal rings (B) Pentagonal rings
(C) Hexagonal rings (D) Heptagonal rings
UhEE ¥ HET qOA Rpee! Rl % w9 § ERdd
B E 7

(A) s ey (B) daai aw@d
(C) v awy (D) Tl aed
Which place is famous for 'Dabu Print'?
(A) Sanganer (B) Aakola

(C) Balotra (D) Bagru

g e & Ty oW e i 30
(A) FR (B) s

(C) T (D) Tm&

The angle of incidence for a

45° as reflection angle is —
5° T BT arel waTen R

B AT B —

(A) 900

) o°
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12

13

14

15

16

17

EJ5] o

The Election Commission of India (ECI) has
named who as its "National Icon"?

(A) Sonu Sood

(B) Amitabh Bachchan

(C) Pankaj Tripathi

(D) Amir Khan

G & g oman (3€emE) ¥ Red e <
TT®' (et amgen) i fear & 7

(A) &

(B) orftam weaw

(C) dYmpar Brardy

(D) enftR @M

Choose the correct Hindi translation of the
following word :

Affidavit :
(A) @i = (B) adrgaemn
(C) s w (D) s whepfy

If the radius of a sphere is doubled, what is the
ratio of the volume of original sphere to_that of
new sphere?

i T el @t Browr g &l T d arafas T o
T M F AFAH BT AT T B ?

(A) 2:1 (B) 1:8

©) 8:1 (D) 1:2

What will be the value returned by the function =
ROUND (188.52, —1)?

T HagE = ROUND (188.52, —1) /I SaX & ?
(A) 200 (B) 188

(C) 189 (D) 190

Select the number group from the options which
is alike with the number group (5, 12, 13).

few U faaed § ¥ 9@ GE@N WE b1 99T B oA
H@m e (5, 12, 13) & &6 @l

A) 5,7,9) (B) 3,4,5)

©) (7,9, 11) (D) (6, 8, 12)

Who among the following won the bronze medal
for table tennis at the Asian Cup Table Tennis
Tournament held in Bangkok recently.

(A) Ankita Das

(B) Sutirtha Mukherjee

(C) Shreeja Akula

(D) Manika Batra

2T 8§ YT ¥ g o Bu e i T
¥ Prefafad ¥ ¥ fre Taw P § wiey wad i ?
(A) oifean <@

(B) gt et
(C) o srgn
(D) At qqU

18

19

20

21

Which of the following statements is not mentioned
in the chapter on fundamental duties?

(A) To uphold and protect the sovereignity, unity
and integrity of India.

To abide by the Constitution.

To value and preserve the rich heritage of
our composite culture. :

To practice and propagate the message of
freedom fightérs.

(B)
©)

(D)

'ﬁwmaazmwmmamﬁmmas
e ¥ it T 7

(A) T oY WYT, Thal ST STES H1 & F{ ST

Ty e @)

(B) @fgum @1 urer e |

©) Wﬁmﬁ%@wﬁraﬁ’ﬁwmﬁmmw
T S e uiieE &Y

(D) TEdsar 9Tl % 99T B 9Tad BT 9 SH
AR HIATI

If a Panchayat is dissolved, elections are to be
held within —

(A) Immediately (B) One month

(C) Three months (D) Six months

gfy qamg faafeq &t @ o @, @ g’—na HER
WR—

(A) dH (B) U& WrE & <L
(C) 99 1 & a=x (D) ©: WE & 3T

available in
(A) Design
©) View o
T ¥
(A) feurm
©) g
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22 In which city of Rajasthan the Desert A fforestation

Research Station was established in 19529

(A) Barmer . (B) Bikaner
(C) Jodhpur (D) Jaisalmer
eI & S gret o 1952ﬁ%a=hmwaﬁaém
@I AT @ e ofy ?
- (A) TR (B) SE
(C) frugy (D) SEeT

23 The maximum number of members permissible in
State Cabinet is —

(A) 10% of the state legislative assembly

(B) 10% of the state legislature.

(C) 15% of the state legislature.

(D) 15% of the state legislative assembly.

T HidEw ¥ wewl @ ciftmad orEd gem §
(A) =g fquma &t 10%
(B) =9 fgumsd &1 10%
(C) = fgurmdsd &1 15%
(D) =g fqumE &1 15%
24 Rajasthan was divided in how many princely states
at the time of independence?

wasar witd & gHg o g 39 Fomedt § |

fawes ar?
(A) 22 (B) 15
(C) 18 (D) 19

25 'Dilwara Temple' is located at -
(A) Jaisalmer (B) Sirohi

(C) Mount Abu (D) Sri Mahaveerji

‘FrerameT A’ Rea & -
(A) SHaAT A (B) Rardr
(C) A= &g o (D) 4 #erdsh &

26 The quadratic equation with one root (Jg_z)
is —

ferma ieTT e ©h g9 (5-2) @, et -
(A) 2 +4x—=1=0 (B) x2+2\/§x+1=0

(C€) x2=245x=1=0 (D) x2—4x+1=0

27 The diagonal of square is 20 cm, then perimeter

of the square must be :
(A) 1042 cm (B) 40 cm
(C) 200 cm (D) 40+2 cm

ush aif & ot & g 20 F B, o) Ee uiEy
m"'

(A) 1oﬁ Y (B) 40 &
(C) 200 (D) 402 &

28

29

30

31

32

EJS | :ﬂ:

What is the common name of Hevea braszllem,sr;
<l

(B) Rubber

A)- Cumin

EC; T::E (D) Clove
A Afgforafee 1 WA T

(A)mﬁv (B) T

(c) Fep (FTTET) (D) @i

T hé Bleachmg action of chlorine takes place only
in tﬁe presence of any one of the following —
(A) Pure oxygen (B) Dry air

(Cj Moisture (D) Sua light

T @1 fertor o Frefafad ¥ ¥ U B SuRafg
¥ é’rag -

(A) == ST (B) g=h a1g
Ejolg (D) I & JBe

ng}fczh schedule of Constitution of India is about

mumj:lpalmes?

(A).13th (B) 10t

(C)_11th (D) 12th

2 e 2 B ST TRl & A
3 &2

(47)”5132?:' (B) 10

(@114 (D) 12

H

What is 'Crawling death'?

(A) Degradation of soil fertility
(B)~Death of wild life
(CQ—-Deoradatlon of forest
(mfpeatll of microorganisms
CRLES Jg @ 27

(A)r JIaT Seitan &1 g

(B)-#a Sl & 7eg

O = &1 7"

(D) _}1&‘1 Stel @ g

Thgzgnzymes that cuts DNA molecule at spec1ﬂc
site SIS —

(A Restrlctlon endonucleases
NA ligases

?All\ahne phosphatases
NA polymerases '

'SDLQW-"{- A N fafire
B ¥

(A) Mgz
(B) druAu.
(C) =iy wige:
(D) druau,
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33 Who is the author of "Marvar Ra Pargana Ri Vigat'?
(A) Sunamal Misran
(B) \eerbhan Ratnu
(C) Dayal Das
(D) Muhnot Nainsi
qrars T T U fana feed e e
(A) ggue fs
(B) ot e
(C) =T =™
(D) ¥&vid At

34 A. B and C are three sets of values of ¥ :
A:2,37,1,3,2,3 -
B:7.5.9.12.5,3,8 N
C:4,4,11,7,2,3,4 =
Which one of the following statement js-correct?
(A) Mean, Median and Mode of A aré_ équa[
(B) Mean of A = Mode of C LOY
(C) Mean of C = Median of B
(D) Median of B = Mode of A .~
A, BT C, X%mﬁfﬁ??ﬁ?ﬂ'ﬂ?ﬂ'ﬂ%w
A:2.3.7.1,3,23 o)
B:7.59 12,53,8 \O
C:4,4.11.7,2.3, 4 ™
frt § @ &H 8T %Y §d B 7 ™
(A) A%mw,qﬁwﬂqﬁa@mmﬁ?
(B) A @ #meg = C &l 9gadh ¢
(C) C @1 Hieg = B &l wifedadn
(D) B @& Aftae = A & 9gad o

, -

35  Where is Dhoolkot situated? O
(A) At Ahar (B) At Kalibarlga
(C) At Balathal (D) At Bairath®"?
g el e ¥ 7 e
(A) wEe ¥ (B) @rim & 2
(C) aretrad o (D) s

36 Which of the following revolutionary wrote the
text named "Chetawani Ra Chungtiya'’
(A) Shyamaldas [
(B) Kesari Singh Barhath )

(C) Bankidas
(D) Pratap Singh Barhath
FamEen T gutear AmE @A

—
s

g @ MY .
(A) samaA=Tq
(B) #whifae anee 0
(C) ardrEm O
(D) wamafaz «tee ‘[\:O
> )
EJ5 | '='\]=’ o
L0

37

38

39

40

41

42

In September 2022, how many years did 'Make in
[ndia" complete? )

(A) 9 Years (B) 6 Ycars

(C) 7 Years (D) 8 Years

Reqm 2022 % A o sPear & frem @ Q¥ g7
(A) 9 ¥« (B) 6 @re

(C) 7 @@ (D) 8 @r«

The square root of 2401 is —
2401 &1 i@ ¥ -
(A) 39
(C) 49

(B) 41
(D) 51

Sakar Khan was honoured with Padma Shri in
2012 as he was a great exponent of musical

instrument.

(A) Khartal (B) Kamayacha

(C) Sarangi (D) Morchang

16T @ & 2012 ¥ wersht A gt feean T it
El @ A & gau 9% qaad gl

(A) @sd (B) @wmraEr

(C) aram (D) #rET

Which one of the following folk God was a cousin
brother of Ramdev;ji? '

(A) Harbhuji (B) Kesariva Kunwar
(C) Tallinath (D) Pabuji

frefifiad & 9 9 | @i dgar THRaet & HiE

47
(A) Tst (B) afwar gax
(C) deeiry (D) Tt

On which date is the festival of 'Hariyali Amavasya'
celebrated?

(A) Ashada Amavasya

(B) Shravan Amavasya

(C) Falgun Amavasya

(D) Kartik Amavasya

Tl smraen’ @ ud e fify @1 s w7
(A) ol9Te JHIEHT

(B) 4rev SHIEn

(C) WIer[a HATEET

(D) el STHTIRIT

A wire is cut into two pieces. The longer piece is
60% of the length of the wire. By how much
percentage is the longer wire longer than shorter
piece?

U% A F & ZHSl | @I Al & | ST THST, ATl
wwTd &1 60% ¥1 93T IS Ble s A fedd wiaed
GLeil A
(A) 60%
(C) 40%

(B) 20%
(D) 50%

[ Contd...
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43

44

46

47

How many Agro Food Parks have been developed
by RIICO in Rajasthan?

At 4 e N frad um gz ud fasfia foa ¥ 7
(A) 10 (B) 6
() 4 (D) 2

Encephalitis in man is transmitted by which vector?
(A) House fly (B) Culex

(C) Anopheles (D) Bed bug

A N %y = 0 9 feg aws @ wraaia
G

(A) =T 5l
(C) wAiftef=

(B) #gead

(D) @zwa

Mahaparinirvan Diwas of Dr. Babasaheb
Ambedkar is —

(A) 10" June (B) 12t Febriary
(C) 14" April (D) 6" December

ef. FETEEE SESHT B Eriai faw ¥ -
(A) 10 5 (B) 12 wyadr

(C) 14 a3 (D) 6 fegmT

Arrange the following ranges of the Himalayas
from North to South order -

(1) Zaskar (ii) Ladakh

(iit) Karakoram (iv) Shiwalik

(A) (iii), (ii), (i) and (iv)

(B) (iv), (i), (ii) and (iii)

(C) (i), (iii), (ii) and (iv)

(D) (ii), (iii), (i) and (iv)

ferrea & Frafafaa Saemst & sat & oo o §

ARy @iy -
(i) et (i) wgT™
(iii) @IS (iv) faranfere

(A) (i), (i), () T (iv)
B) (iv), (i), (i) w (i)
(©) (0, Gii), (ii) T (iv)
(D) (i), Gii), (i) w (iv)

Choose the correct antonym of the following word
from the options given below :

Knowledge
(A) unknown
(C) leamning

(B) ignorance
(D) classic

EIS ] o

48

49

50

51

52

53

[he main objective of the forest developmep,
programme "Harit Rajasthan"” is :

(A) Dairy development

(3) Afforestation

(C) Animal hushandry
(D) Ground water recharge

a4 faara o gfra T’ B g 20wy oy
(A) zafr famm

(B) gar T

(C) m3] A

(D) e g

Which area was integrated in the last phase of
integration of Rajasthan? '

(A) Tonk (B) Ajmer

(C) Bikaner (D) Shahpura ‘

T % U & Hfad T H BT 43wt
fopar Trar a1 ?
(A) Th
(C) drT

(B) @87
(D) smEg

The value of 125'03255 is -

125102255 1 g % -

(A) 25 (B) 5
T
(©) 545 (D) 3

Translate the following sentence into English :
ERERARCIRCE R A

(A) He / She likes tennis.

(B) He / She likes to play tennis.

(C) To play tennis is liked by her.

(D) He / She loved to play tennis.

if sinA+cosA=m and sin> 4+ cos’ A =n, then
which of the following is correct?

gf sind+cosd=m g sin® A+cos’ A=n 4
ar Frafafas & & s=-g1 @8 22

(A) m> =3m+2n=0 (B) m3

-3m+n=0
3 "
C) n’=3n+2m=0 (D) m>+3m+2n=0

What was the installed capacity of power in
Rajasthan upto December 20219

(A) 21979 megawatt (B) 20762 megawatt
(C) 23321 megawatt (D) 31310 megawatt

Rt 2021 &% o ¥ o @ oty ww
[EEI

(A) 21979 ¥z (B) 20762 "marz
(C) 23321 A= (D) 31310 "rare
[ Contd...
il S

@ Scanned with OKEN Scanner



54 When a computer is switched on, the booting
process performs : '

(A) Power on self test

(B) Reliability test

(C) Correct function test

(D) Integrity test

W Y H A S a ¥ @ g waw
HTE

(A) Uit AT 86 = (Power on self test)
(B) fremafaferd 2w (Reliability test)

(C) & FR vWE T2 (Correct function test)
(D) 3= T (Integrity test)

55 Which of the following National Parks in Rajasthan

is famous for Birds?

(A) Ranthambhore National Park
(B) Desert National Park

(C) Gir National Park

(D) Keoladeo National Park
frefofea & & Teram § S—a1 wda sa et %
foe wires 2 7

(A) T A9 Ut

(B) I AgA uTh

(C). Frt Agm@ urh

(D) Fawra s

56 Chomp Cricket Stadium will be constructed in —

(A) Bikaner (B) Jodhpur
(C) Jaipur (D) Kota
@ fpbe wiegw s=mn sam -

(A) dremT o (B) wiugR
(C) sagx ® (D) @1 ¥

57 WU 9= N B W wHE B 7
(A) fag wm| (B) &HuTg THE
(C) Tgew Ta| (D) srdrE §HTE
58  Who among the following is not working as Deputy
Governor of Reserve Bank of India?
(A) Shri S.C. Murmu (B) Shri M.K. Jain
(C) Dr. M. D. Patra (D) Shri M.R. Rao
frr=ifiaa ¥ @ @ fod §% aife gisar & f5<d mawk
S uy &7
(A) & wgd. T
(C) . wad. umn

EJ5 | =|']=

(B) &Y wq.&. 39
(D) & a3, Ta

59

60

61

62

63

64

On 27t October, 2022,
celebrated in India.

(A) 79th (B) 74th

(C) 76th . (D) 78t

27 ST, 2022 I ARAH i e A (65))
g @ T
(A) 79

(C) 76

infantry day was

(B) 74
(D) 78

Mathuradas Mathur awardee Aniket Chaudhary is
associated with which of the following sport?
(A) Archery (B) Hockey

(C) Cricket (D) Boxing

YR HIYT YRR § qetra aifviha dverd Preifofaa
A ¥ fom wa & geabug 27

(A) AT (B) wia

(C) Toppz (D) gEpaTS

Which of the following metals can be extracted
by electrolysis only?

freferitaa & 4 fore a1g &1 Framdor et faga—eragen
& &0 R A wwar ¥ 7

(A) Al (B) Cu
(©) Ag (D) Au
AYE G & GGT DIY —

(A) sgdvran (B) arswd
(C) wraa (D) aifeat

'Erythroblastosis foetalis' is a disease caused by
Rh factor, in which death of child occurs?
(A) Fourth (B) First

(C) Second (D) Third
‘afeaeiag e’ us W ¢ s Rh &1 &
HT g H GG ® A §)

(A) =gd (B) wuw

(©) fedm (D) g

Which one of the following is not correctly
matched?

Iron - Ore Mining Area  District
(A) Loharpura - Ajmer
(B) Chomu - Samod - Jaipur
(C) Sarai - Pachlangi -  Jhunjhunu
(D) Neemla - Dausa

frafafea & 4 #F-91 s 98 gt 78 &7

AL — GF T AF [
(A) drerga SR LS
(B) ¥ - ¥ - WA
(C) =t — yawt - g9l
(D) Hw - dmr

[ Contd...
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65  Go through the passage very carefully and answer

66

67

68

the question given below :

In the past thirty years, drugs have been discovered
that prevent and cure physical disease and reverse
the disturbances that occur in some mental illness.
Excitement over what drugs can do has led people
to believe that any ailment, infective or psychic,
can be relieved by taking a pill. At the first sign
of nervousness, they try pep pills. Medical journals
now advertise tranquillizers, and other mood-
altering drugs; doctor prescribe them; and the
public expects miracle from them. In such an
atmosphere, it is not surprising that drug abuse
has spread.

People [6ften believe that

(A) doctors can not cure all the diseases.

(B) mé-d'ikincs can not cure all the diseases.

(C) doctors can cure all the diseases.

(D) mgijyines can cure all the dise'ases.
-

Software_used for file compression is -

(A) Winamp (B) Winshrink

(C) Winword (D) Winzip

e G 3 T o A v

(A) faqum (B) faafia
(©) fuygd (D) fermfa
o

Which bfthe following colour of white light gets
least déviated by the prism?

(A) O@e (B) Green

(C) BIEe) (D) Yellow

o o @ 93 wemter &1 BT 91 B | <A faafeg
T &7
(A) e

©

The largest 'Baori' in Rajasthan which is located
at Jodhpur is named as -

(A) Natlan Baori (B) Chand Baori

(C) Rani ki Baori (D) Idgah Baori

et @ gad 991 ‘arEsl S Suge ¥ fem
Lo & S ¥

(B) &
(D) e

— ) .
(A) T, & adt (B) 9= A
(C) @ a@dt (D) e & A

W
EIS ] =
L0

69

70

71

72

73

74

What is the usage of master slide in a Po“'efpoint-,

(A) Both Adds new slide and Allows you to "ie“.,
all slides together o

(B) provides similarity in formatting in every slg.

(C) Adds new slide '

(D) Allows you to view all slides together

qray dize ° AT WES B Al SqEm &7

(A) 7 e o 9 G TEEE BT o gy
gl

(B) & &3S & TP 3T wEE BT

(C) =% wrgs @l

(D) RRIRSIEER B Th qrer 3@=r

Piplad Drinking Water Project is related with -
(A) Pali (B) Ajmer

(C) Jhalawar (D) Jodhpur

SraeTe JgeTe AT 6 e § -

(A) Tl (B) ot

(C) werars § (D) SR ¥

The Chauhans of Ajmer are also known as -
(A) Chauhans of Nadol

(B) Chauhans of Jalore

(C) Chauhans of Ranthambhor

(D) Chauhans of Sapadalaksa

ST % e B & A W W S 9w
(A) = & 9™

(B) V@R & e

(C) o™i &% dlEH

(D) @uRwE % M

What is the share of Rajasthan in total livestock
population of the country as per the Census-2012?
9 TOMT-2012 & SITHR 39 & et qU ¥ TN
& fewn fpar d
(A) 12.6%

i (B) 9.4%
2%

(D) 11.5%

Which of the following phrases is a substitute for
the word 'Beaver'?

(A) An animal that lives in water and land
(B) A person who brews liquor illegally
(C) To tear up and damage a living body
(D) Public merry making and procession

SR o= d T gen Tfire fydo g @ -
(A) sififtrg (B) sufasha
(©) shafrafirs (D) ufafyr

[ Contd.--
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75 Which city of Rajasthan is known as the biggest

76

77

78

79

80

woollen mart in India?
(A) Bikaner

(C) Jodhpur (D) Jaisalmer
TETET 1 BT e T & T T2 S % Ao
¥ w9 H W W §?
(A) dr@rT

(C) shugy

(B) Barmer

(B) ="z
(D) SEeEy

Which sector contributes highest in the gross state
domestic product of Rajasthan?

(A) Animal Husbandry (B) Agriculture

(C) Service (D) Industry

TS & Fehel Y T Sed1d o e &7 a1 arram
qaffus & 7 '

(A) 9y Hra (B) iu

(C) &= (D) s

Author of "Wolf Hall' trilogy, died recently at the
age of seventy — :
(A) Peter Carey (B) Hilary Mantel

(C) J.G Farrell (D) J.M. Coetzee

% i Zrdieiel % orad, e e & {70 99
@ omg o frea B T -

(A) drex & (B) feard A==t

(C) w30, ®Ied (D) W.UH. Hiesl

Fill in the blank with suitable preposition.

You have to leave your shoes the door
when you enter the house.

(A) by (B) in

(C) over (D) to

Which one of the following cities has won the
World Green City Award 20227

(A) Montreal (B) Paris

(C) Melbourne (D) Hyderabad

P ¥ & frg oTeT ¥ aed A fadt arai$ 2022
ST & 7 '
(A) wifzae
(C) W=

(B) uf@
(D) TEER

Hornbill Festival was inaugurated by Vice
President in — '

(A) Mizoram (B) Meghalaya

(C) Nagaland (D) Tripura

SRRy ERT EHaE Sed Bl SgETed fedr T -
(A) fosiron o (B) Hured ¥

(C) -rmeivs ® (D) PBrgu o

EJS]:ﬂ:.‘

81

82

83

84

Which of the following river is not a tributary of
the river Krishna?

(A) Musi (B) Bhima

(C) Purna (D) Koyana

Fretifed § | BIET T FON AL Db Ferdd L
TR ?
(A) q&
(©) i

Which of the following awards has not been
proposed to best performing enterprises in
Rajasthan under the MSME Policy, 20227

(A) Product quality improvement

(B) Women entrepreneur

(C) ST/SC entrepreneur

(D) Outstanding process / product innovation
e § @ RF-a1 R e F gAuE.uEd. i,
2022 % i aaTa™ & BT aId SUHA v SR
T B

(A) eI T GAT

(B) wfeenm Iad

(&) erpgfa st / orgEfaa SRt % S

(D) srameTTor withar / IR & TAER

)

Fi?_ét major irrigation project in India, in which
é’f)r’inkler irrigation system has been made
mandatory in entire command area -

(A) Bisalpur Project

(B) Narmada Canal Project

(©) Jakham Project

(D) Mahi - Bajaj Sagar Project

G 1 e =t R wrcdier R g TS A
F-fgjeper e wone attrer & g ¥, 9% ¥
(A Poraeqe aftdor

(B) er e ufdier

C) wmaw wfrsr

ED%’ HIEY — STl | WS

(B)
(D) @rEAT

Power of a lens is given by the following relation

(where fis the focal length of lens) -
E};{ﬁévaﬁaaﬁrﬁmﬁ@mé?ﬁmﬁr% (et [

‘@)'th’m{ T 3) -
(A)

o8]

1
(€6 P=—
8 777
[~ v
) , [ Contd...
—

®) r=7

(D) P=f2

{
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85 The first mid term elections were held in Rajasthan | 90 Which protocol is used for file transfer?

due to dissolution of : (A) HTTPS (B) FTP
(A) Third Assembly (C) HTTP (D) POP3
(B) Fourth Assembly &1 A1 WIBA B TAT BEA % ATE WEE ﬁsm
(C) Sixth Assembly FArar &7
(D) Seventh Assembly (A) Tadradrog (B) QTEfoII
BT fqum g9 W €9 % wreo o™ gom (C) &I (D) dremd 3
qeEty gATa §u? '
(A) St faam o 91 ﬁﬂﬁf@ﬁﬁﬂﬂﬁﬁm'
(B) el fasr & . , i
(C) w3t four e " & am?%mamualﬁﬁw
(D) gradi faums g :_‘ : 5 . (if) = | .
86 Famous ‘Chitrashala'is situated in the Royal Palace | 3. g (iii) ; ST Wﬂ a'f‘“*_‘*;w
of ‘ , &
TV FHATE! B TR 39T
{A) Kota (B) Jodhpur N
(C) Bundi (D) Amer " :ﬂa‘qﬁq feran =
g Rgmar % o) wew A Rud ® _ .
(A) BT 3 (B) WU 4. 9T (iv) T & Wehrid Al
. - 1 2 3 4
© (D) s @A) (v G i) O
87 Verdana is a type of : ‘ (B) (éi) (1) (iv) ' (111)
(A) Font Art (B) Font Style (g) M) @) () ETS‘)
(C) Font Size (D) Font Alignment D) @iy Gv) (W) Q

T B Th{ 8|

92 Anaemia preventing vitamins are —

(A) I el (B) w< gﬁﬁ (A) Vitamin A and Thiamine
(C) wi= &ma (D) Wi d@a (B) Thiamine and Riboflavin
) R (C) Riboflavin and Niacin
88 ‘'Atal Bridge' which was ‘naugurated by P.M. (D) Folic Acid and Vitamin B,
Narendra Modi on 27-8-20227is 'built on which TEEAT B Uham & oy faehm ¥ -
river? ) (A) ToaiE © sk umsfiq
(A) Chambal (B) Narmada (B) ursf™ 8fit et
(C) Sabarmati (D) Brahmaputra (C) TzaEifaq oy frenfas -

27-8-2022 & 94T HAl TCH AET & IgEeA T (D) wites uiie of faerfirr ),
T e YA R AE qX a3 7 )

(A) == (B) e 93 A liquid ir a capillary tube rises to a greater height
©) ﬁ (D) s@gH than water. The reason is —
I (A) Surface tension of the liquid is lngher than
89 What should come next term in the following At Of waler.
M Egg "lf;ql”d is more viscous than water.
1€ temperature of the liquid is higher than
ﬁwﬁfﬁgaﬂwﬁvﬁﬁmqawmaﬁq? that of water. ) ¢
N T , (D) The surface tension of the liquid is less than
1,/-2;’ 2’ 2‘/5, 2\/@: 6\'/_'" 7 i ( , that of water.
| A gﬁmﬁﬁgaﬁaﬁaﬂmwm(ﬁ)eﬁwm
Tl ® | 3HHT HROT &
M 175 B 125

(A) O W 98 a9 i @ aden ofs

| ‘ I (B) %@, e @1 oren arfirs g ¥
©) oJ6 D) 3 (C) T & a9 e F aan ot B
(D) 9@ &1 98 g wer & amen &9 B
EIS ] o 10 [ Contd..
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o4 Eight cubes of side 2 cm each are joined to form

- 1::\\. cube, then the length of the so formed new 101
cube 1S —

(A) 8§ cm (B) 2 c¢m

(©) 4 em (D) 6 cm
QWWWWWﬁmﬁWﬁW@WW

(A) 8 & (B) 2 ¥

(©) 4 D) 6

95 Enlargement of thyroid gland is due to
deficiency of
(A) Biotin (B) Vitamin A
(C) Iodine (D) Tron
q1zse ata &1 R B FH F BT B
(A) Frfe (B) faafm u
(C) s (D)

96 frfaiaa & & fpe g & @ |fr 27
(A) TR (B) oy
(C) @am (D) w=fq -

97 Annie Ernaux awarded Nobel Prize for her
contribution in which of the following fields? 102
(A) Physics (B) Medicine
(C) Chemistry (D) Literature
T urAred & Frefataa &9 § @ fhad dameE &
fey e qRERR § @I Rpar T ? 103
(A) feas (B) ufsfaa
(C) T@maw (D) wifRFdA

98 Saint Charandas belongs to which district of 104
Rajasthan?

(A) Alwar (B) Jaipur

(C) Bhilwara (D) Bundi

¥ TR o & few fe § wafia €7
(A) r@ET (B) @YY

(C) st - (D) &

%9 The sum of all the angles about a point is —

U fag wC @ are e Bl @ an g F - | 105
(A) 3600 (B) 0°
(C) 90 (D) 180°

0 2 ¥ gre-ge & wh g R % waiEErd ¥
(A) wifa, &y, aft  (B) &Y, g4, g9
©) %, 7w, sig (D) 0w, sig, T

11

EJS] .{::

There is a definite relationship between first two

problem figures, Based on the same relationship

select from answer figures an appropriate figure |
to replace the question mark in problem figures.

T & e gl % 9 s Fived T 1 gE

Y & YR O IWT il § § Suga b1 9o

BHISY 1 UgAfas & WE 9T w|

Problem Figures (W¥&n i)

| x| -
I II 111 A v
Answer Figures (S agfai)
(A) @ (B) @
o D] o &
‘eAga § IuE ¥ —
(A) 5§ swed  © (B) fedy wuwl
(C) it suet. (D) ¥pd suwit
PRICIECH QTﬁTaFﬁ”_ﬁ v'Reference’ w e ' -
(A) ufdrer (B) whrifa
(C) dwd ' (D) gt
{ )
To move to the next cell in a table, press the
key, '~ 7
(A) Insert " (L (B) Enter
(C) Tab *.(D) End
w Yaw & o & U WA ¥ frd o
& J4 Ear 2
(A) gt (B) d=X
(C) = (D) @
The average of 23 numbers is 21. If each number

is multiplied by 2, then what will be the new
average? ”

23 g & ahad 21 ¥ afk ade s & 2 § on
fepan <mq A T ofved @ wm e
(A) 46 (B) 21
(C) 23 (D) 42
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106 Who was the first Indian woman to climb Mt.
Everest and Mt. Makalu who died recently in an
avalanche on 4" Qctober, 20229

(A) Shivangi Pathak (B) Savita Kanswal

(C) Santosh Yaday (D) Anshu Jamsempa
IS~ Qa0 U4 WIa= 9l WX 93 Al 999 wrdi

wften, feme 4 erza, 2022 & freae § e

TN, B 7

(A) Rt yres (B) afadr &gam

(C) ¥ ey (D) aig] wHE=T

What point on y-axis is equidistant from the points
(7, 6) and (-3, 4)?
y-318 WX PHA-a1 fag, fagat (7, 6) qar (<3,4) &

107

TG & 7 69
1{A) (0, 15) (B) (0,100
(€) (0, 5) (D) (0, -15) O

Through which one of the following Ef?)ups of
states, does the river Chambal flow? ¢

(A) Madhya Pradesh, Rajasthan, UttarrPradesh
(B) Madhya Pradesh, Rajasthan, Delhi ()

(C) Madhya Pradesh, Rajasthan, Haryana

(D) Madhya Pradesh, Rajasthan, Gujarat

T T8 Frafafeas fha vog- gz @ ﬁgwﬁm
Il &7

108

(A) =&g yel, oA, 39T He9r O
(B) wey wiyr, Tomeem, fowel =
(C) wem wst, Ty, sfeamn ™M
(D) W= w39, TR, AT r—-{

109 There is 10% loss if a watch is sold for ? 1440.
At what price it is to be sold toget 15% profit?
E TSI B X 1440 ¥ A9 9T 10% F ervEEr ¥

39 fhas 390 o w1 9@ 5 15% &1 @rg_ar 7

(A) T 1860 n(B) I 1800 \O
(C) T 1840 (D) X 1850  ~
110 Choose the correct synonym of the !bllou.'(iTIZz word:
dread ™
(A) scarce (B) 'fear LM

(C) sorrowful (D) angry

111 Where is Footwear Design and - -Develgpment
Institute set up in Rajasthan? -
(A) Kota (B) Jaipur O
(C) Jodhpur (D) Bundi ‘
A A Fediar {5 qoe Saawie efivesge se
o i Rear T &2 S0
(A) ®a (B) wagr v
(C) gy (D) 48 o
112 In MS-Excel, Insert tab has _ groups.
THUE-URA & W A W TR e F)
(A) 3 B) 6 O
(©) 5 (D) 7 -
o
EJ5 | =ﬂ= ™~
™
—1
LM

113 Nitration of benzene is —
(A) Free radical substitution
(B) Electrophilic substitution
(C) Nucleophilic substitution
(D) Electrophilic addition
A @ AGLIA & -

114 The amount of simple interest on I 4800 at the
rate 5% per annum in 2,)l years will be —

< 4800 @t ufyr wX S%Errf;faﬁwmma%aré
21 il ¥ < i E -

(B) T 400
(D) T 600

(A) % 700
(€) T 500

About which fort has Hasan Nizami written that
"This is such a fort, whose doors could not be
opened by any invader"?

(A) The Fort of Siwana

(B) The Fort of Jaisalmer

(C) The Fort of Jalore

(D) The Fort of Shergarh

T Rbel % aTc ¥ T P 3 frar ¢ ‘gg U fehen

115

& PO STame BT SBHEH AE WA T ?
(A) Taamom @1 e
(B) FgadT @1 fmer
(C) =& &1 fepar
(D) 9rote &1 fmar
116 Find the missing number.
dd qE& s difeg )

12 13 11
3‘@'6 72 8 5
5 4 6

(A) 88 (B) 51
(C) 65 (Dy 72

117 Sariska Wild Life Sanctuary is located 'in the
state of -
(A) Haryana (B) Madhya Pradesh
(C) Rajasthan (D) Gujarat
gt a9 dra sivarea fag g § fiag 37
(A) &famm (B) wey wdyr
(C) usns (D) NERG

12 [ Contd...
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